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QUESTION 1

To which primitive data type is a text area (rich) field automatically assigned?
A. Text

B. Blob

C. Object

D. String

Correct Answer: D

QUESTION 2

Which data type or collection of data types can SOQL statements populate or evaluate to? (Choose 3)
A. A single sObject

B. An integer

C. A string

D. A list of sObjects

E. A Boolean

Correct Answer. ABD

QUESTION 3
What are two considerations for deciding to use a roll-up summary field? Choose 2 answer\\'s partner.

A. Roll-up summary can be performed on formula fields, but if their formula contains an #Error result, it may affect the
summary value.

B. Roll-up summary fields do not cause validation rules on the parent object unless that object is edited separately.
C. Roll-up cannot be performed on formula fields.

D. Roll-up cannot be performed on formula fields that use cross-object references or on-the-fly calculations such as
NOW().

Correct Answer: AD

QUESTION 4

A developer uses a Test Setup method to create an Account named \'Test\\'. The first test method deletes the Account
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record. What must be done in the second test method to use the Account?
A. Use SELECT Id from Account where Name=\\'Test\\

B. Restore the Account using an undeleted statement

C. The Account cannot be used in the second test method

D. Call the Test Setup method at the start of the test

Correct Answer: A

QUESTION 5

Universal Container(UC) wants to lower its shipping cost while making the shipping process more efficient. The
Distribution Officer advises UC to implement global addresses to allow multiple Accounts to share a default pickup
address. The Developer is tasked to create the supporting object and relationship for this business requirement and
uses the Setup Menu to create a custom object called "Global Address". Which field should the developer ad to create
the most efficient model that supports the business need?

A. Add a Master-Detail field on the Account object to the Global Address object

B. Add a Master-Detail field on the Global Address object to the Account object.

C. Add a Lookup field on the Account object to the Global Address object.

D. Add a Lookup field on the Global Address object to the Account object

Correct Answer: C
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